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JIE 52 K4 FEHIFI—X ouT IN GROSS
1 L& OAH A—Fr—F 39 39 78
2T B EF el 39 40 79
2T SR EHF Y= EHOH3I6 40 39 79
4T FigE XHEF HOH 41 39 80
AT Bk LT H N—E=— 39 41 80
AT iEE o= 5 41 39 80
7 M EiF HHOH 40 42 82
8T EX & HOH 43 40 83
8T BEH BF e 41 42 83
8T BRE EF DAY - 40 43 83
8T 2iF =F DAY - 43 40 83
12T KA wF Y= EHOH36 41 43 84
12T Tk EF JI\FH 41 43 84
12T IRA FIF HO&H 39 45 84
12T INK BE HOH 42 42 84
16T B EF HPH 45 40 85
16T ¥ EF RBFID Fx 42 43 85
18 B FEF HPH 43 43 86
19T FE BF RBF D F% 42 45 87
19T By —F iR 44 43 87
19T B5E PRAF 2R 46 41 87
19T iF BF el 41 46 87
19T H HNIFb RBFID Fx 43 44 87
19T HE & mZEE 44 43 87
19T 518 BF HHOH 45 42 87
26T AR FEF ELR 46 42 88
26T it =0 HHOH 45 43 88
26T INEE ET J\FHR 45 43 88
26T B FEF U= EHOH36 46 42 88
26T Hit BE S 47 41 88
31T 1A BE&FF =1 GH 44 45 89
31T E B 5 46 43 89
31T EN EF HPH 45 44 89
34T MR I HPH 46 44 90
34T =418 HieF HOH 45 45 90
36T EN EE REF1 D 7% 48 43 91
36T e fERF N—E=— 47 44 91
36T AR *LF 4o — 45 46 91
39T BR BEF REF0 D 7% 45 47 92
39T =8 &F HPH 45 47 92
39T Tl =5 F eSS 44 48 92
42T HEAEF REFID Fx 49 45 94
427 £8 EiT NFR 47 47 94
44 /R BFxX HPH 49 47 96
45 mi _EBEF & 51 50 101
46 RE EF REFID Fx 55 50 105
K18 e = EAEE 6-6b
K& INF BhF J\FHR 6-6b
R35 PR XEF =1GH — - —
Ri5 Sl BT E+GC - - -
R35 k5 X5 N—t=— — - —
Ri5 A EF = NTFR - — —
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